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Check the question paper for fairness of printing. If there is any lack of faimess,
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GPLy : Qaedanngsrer HIENE uEHamar AsmeRTLgl.

This question paper. contains four parts.

Note

G

Note :

S AamssEns@n oL wellssaw.

u@gd -1 /PART -1
14x1=14

Qarpasrul@earer wrpn e sefld Basayb goyeLw edanulener
Coip@s( 556 GOULALE elafiemanyd Csig apsalbd.
Answer all the questions,

Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1.

A={a, b, p}, B={2, 3}, C={p, q, 1, s} erafléd, n[{AUC) X B] yegy :

(1) 8 (<) 20 (@) 12 (/) 16
A={a, b, p}, B={2, 3}, C={p, q, r, s} then n[(AuC)XB] is :

(a) 8 (b) 20 (c} 12 (d} 16

n(A)=p, n(B)=q aafileo A -QAmHs B -4 daLsew Quwrss o peysafia
T anflEenswrens

(@1) 0 (@)1 (@) 279-1 . (m) 2M

If n(A)=p, n(B)=q, then the total number of relations that exist from A to B is

(a) O (b) 1 (c) 2Pa-1 (d) 2Pd

Fi=1, F,=3 wppw F =F,_,+F,_, aené Qan(éaiiugen, Fg 2,18 :
(1) 3 ()5 (@) 8 () 11
Given FI= 1, F2=3 a.nd FH=FI'I."I+FH—2 th.en, F5 15 .

(a) 3 (b) S (c) 8 (d) 11

ty, ty, ty e Tarug @ sl B Qg euflens erafley tg, ty,, tyg, ...... GTETLIG)
(=) @ QumsEs Ggrui euflens

(=) @m sl 5 Qs euflens

(@) om sl (s Ggmit euflesywon, QumsEs deT i uflesuwde

() qm wrhels Agnit eufiens

If the sequence t,, ty, t5 ...... aré in A.P., then the sequence te, 112 tigs eeee is :
(a) a Geometric Progression

(b) an Arithmetic Progression

(c) neither an Arithmetic Progression nor a Geometric Progression

(d) a constant sequence



3y—3_:_7y—27 —_—
y 3y
9y 9y3
él —
(=) () 21y - 21)
21y2 - 42y + 21 7y? -2y +1
3y=-3.79-7 i.
Y ;':3_1_;2
9 3
@ )
21y - 21)
21y% - 42y + 21 7(y® - 2y + 1)
(c) 35 (d) )
Y
@(H @MUl FLOETUTL 196 QUETLILLD ¢
(=) CpraGan® (&) UL (@) uraumearwn () SFureuameTuid
Graph of a Quadratic equation is a

(a) straight line (b) circle (c} parabola (d) - hyperbola

AB _ BC " . .
SE = FD aafler, AABC wpmd AEDF erublumypsy eugQeurssemewns

S|ELOWLD ?

(=) B=[E (<) A=ID (@) B=[D () [A=IF
AB _ BC - o

If in triangles ABC and EDF, DE = D then they will be similar, when :

(a) [B=I|E (b) |[A=|D (c) |B=|D (d) |A=I|F
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10.

11'

12.

4

e L gher QgTRCHTHDL Fen TP CFRIGESSTE SepLWb G ;

(31) @wwbd (=) QanBHyéraf

(®) Wiy (%) preim

.A tangent of a circle is perpendicular to the radius at the :
(a) centre (b) point of contact
(¢) infinity (d) chord

X656 AemGEsMs o drar CriaCamiyen smiay :

(s1) 1 (<) 0 (@) = (m) -1

The slope of the straight linc perpendicular to x-axis is :

(a) 1 (b) © (c) o (d -1

sinf=cosh erafled 2tan?0+sin20 -1 -1 WAL

3 -3 2 -
(=) 5 (=) & (@) 3 () 3
If sinf=cos8, then the value of 2tan?6 +sin26—-1 is :

3 -3 2 -2
(@) B > © 3 @

ST 5 Q@85 wppd smywrd 13 QF.18 2 e w Crieul Ls sublén W -
(=1) 12 Q5.8 (=) 10 Qs.15 (@) 13 Q5.8 () 5 Qs.8

The height of a right circular cone whose radius is 5 cm and slant height is 13 cm
will be :
(a) 12 cm (b) 10 cm (¢) 13 cm (d) 5 cm

gwwrer efl b wHmDd e Wb el w @ o (mener, R Saby LHMD G
Carargglen san ereyseflen aflflsib :
() 1:2:3 (=24)2:1:3 (@) 1:3:2 (fF) 3:1:2

The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same
diameter and same height is :

(a) 1:2:3 (b) 2:1:3 (c) 1:3:2 (d) 3:1:2



5

13. @HUACL greyu yerefsefier s @se whpib symem @dueme wapGu 407 whmb

11 erailed, grayus yereflseflen eramenflisamswnang, :

(=) 37 (<2p) 4477 (8) 396 () 418

If the sum and mean of a data are 407 and 11 respectively, then the number of
observations in the data are :

(a) 37 (b) 4477 (c) 396 (d) 418

14. Qe TpsHISET {a, b, ....., 2} -AGHE @ apss swamiiiy wanudd Gsiey

QelwtuGéps. <ps awss x -6 @hwsu ausgsde gaws
Q@Lugpaner plapsse :

12 1 23 - 3-
(@) 33 () 3 . (@) 5 (7) 2
If a letter is chosen at random from the English alphabets {a, b, ..... , 2z}, then the
probability that the letter chosen precedes x :
12 1 8 g 3
@ 13 ® 13 © 26 @ 26

@S - I / PART - I

GHUY : amauBueyp 10 amss@née elmLweiésab. dam aar 28 -&@
SL_Lmuwrs edenwefl&sey. : 10x2=20
Note : Answer any 10 questions.. Question No. 28 is compulsory.

15.

16.

17.

-BxA={[—2, 3), (-2, 4), (0, 3), (0, 4), (3, 3), (3, 4)} arafley A wHmb B flweunerns

STERTS.
I BxA={-2, 3), (=2, 4), (0, 3), (0, 4), (3, 3), (3, 4)} find A and B.

fof (k)=5, fik)=2k— 1 erafléd, k -&i1 wHIenL SRS,

Find k if fof(k)="5 where f(k)=2k—1.

x+6, x+12 pmid x+ 15 erenuen G QUBHES Qg auflenaulien Ggrigflwren
epeTm e UILEET arafléd, x -t FLIeLd SRS
Find x so that x+6, x+12 and x+ 15 are consecutive terms of a Geometric

Progression.
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x+2  x*-x-6

4y 1242

1B. &(m&55

2 _ o _
Simplify : £ ¥ 2 + X X 6
4y 12y

19. déreumd @Qmugés goaun_iyen apehisaflen EIeeNWIEs &S,
2x2—x-1=0

Dectermine the nature of roots for the following quadratic equation.
2](.'2 —-x=1=0

20. uLgH® AD ereénug) £BAC -uen @maw@eut_ i umEw.
AB=10 Qs.8
AC=14 Q&g.5 wHmb

BC=6 Q.8 eraflér, BD wpmb DC-gpé snewrs.

D C
6 Q5.5

In the figure AD is the bisector of £ZBAC, if AB=10 cm, AC=14 cm and BC=6 cm.
Find BD and DC.




21. @ yoar xy gersdler (-6, —4) eramm Laraflufled o erengy. (5, 11) eremy Yerrafludie

22.

23.

24.

25.

26.

@M ured Yl eeaussuul@erarg. yeear sé gndw simn vwefiggl ure
SimHg emwyfps aafler, urtdall UGEUSHES Ggwsuu_mm L1 men & U Gt
FLETUMNL ML E SIS,

A cat is located at the point (-6, —4) in xy plane. A bottle of milk is kept at

(5, 11). The cat wishes to consume the milk travelling through shortest possible
distance. Find the equation of the path it needs to take the milk.

12y=—(P+3)x+12, 12x-7y=16 g CrisCat(ad gapsdsman CsmGEss
crafley, P -ullent wdllienusd snams.

If the straight lines 12y=—(P+3)x+12, 12x—7y=16 are perpendicular then
find ‘P’

secH sin@ -
- = cot® eraIem 9&s6yLD.
sin@  cosB 5 Hie a
sect sin@
Prove that —— — —— = cotf,
sin® cosb

Hggrerans Qanam® 7 B TP, 24 15 2 WILPL 2-LW G DY QUGS Sl LD
o meurssLLDADG. QFeucus augeus Ajsrallen dFD 4 S arafler, sigan Hemd

ST &.

The radius of a conical tent is 7 m and height is 24 m. Calculate the length of the
canvas used to make the tent if the width of the rectangular canvas is 4 m.

@ m Camanusafen gy ghsedt e0dg 4 : 7 aafld seupBlen san siereysailan eildsw
STERTS.

If the ratio of radii of two spheres is 4 : 7, find the ratio of their volumes.

QarRésuul L sreyl LaellaEmag 655& LHMID S5as Uspaeus sM1aTs.
63, 89, 98, 125, 79, 108, 117, 68
Find the range and co-efficient of range of the following data.

63, 89, 98, 125, 79, 108, 117, 68
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27. Auwppd B Hw Qm Aaerariugryiae [T -ulle Careugnsnssd s mULaTEaT.
Qaursefledr A CarpQsHassLueugnarer Hepssey 0.5. A wLHmWL B GEHoumwd
GCerpAshasiu@eusparar fapssey 0.3 aafld, B GCampdsRssiuBeaghsrar
SFsuls Hapssa) 0.8 erar HlemsaayL.

A and B are two candidates seeking admission to IIT. The probability that A
getting selected is 0.5 and the probability that both A and B getting selected is
0.3. Prove that probability of B being selected is at the most 0.8.

28. p?xq!xr?xs?=3,15,000 erenpeunyy Sienowb ereflé p, g, r LHMID s YA weuHHlen
wHILFMTE &S,

If p2xq! xr*xs3=3,15,000 then find p, q, r and s.

L@s - I / PART - IIl

&Py : e 10 elamssensE oL wafssayn. elam aar 42 -&E@

sLLmuns eflen_weléseyw. 10x5=5I
Note : Answer any 10 questions. Question No. 42 is compulsory.
29. f: A -» B aenp griuneng f(x)= % -1, T& awerupssiuddps. Qs

A={2, 4,6, 10, 12}, B={0, 1, 2, 4, 5, 9) @5 @®BEED Gung sy f - Geraumid
pennaatey @bléseyi.

(i) euflens Comysafien semrd (ii) S ecuenemt

(iii) SYSGEH UL (iv) euenpuLLW

Let f: A = B be a function defined by f(x)= % -1, where A={2, 4, 6, 10, 12},
B={0, 1, 2, 4, 5, 9} Represent fby :

(i) set of ordered pairs (ii) a table

(iii) an arrow diagram (iv) a graph



30.

31.

32.

9 6822

o0 Asmelgidier SHsEnsEE 1 wee 49 awerr AgrLiédlwrss sgelwés
upBslUUL@eterg. Qspddler SluhE wearagns cder SHaeafen
sgellossnseilen sl g Garaswragy QspHdar Sl ypEl Garansns o drer
Spaaflan sslosshsalar sl (s AsressEs sub aaflle Qepdddar L s
&5lVEE5NGE SIS,

The houses of a street are numbered from 1 to 49. Senthil’s house is numbered

such that the sum of numbers of the houses prior to Senthil’'s house is equal to
the sum of numbers of the houses following Senthil’s house. Find Senthil’s
house number.

5+55+555+..... erenmp @greuflansufien pse n e pliyseflar ampge srems.

Find the sum to n terms of the series 5+55+555+.....

Epsargpd gpeary wrhselld SewvEs gorsew Cpllud swarur (s
Qarelyseer Siéa.
3y

x+20=? +10=22+5=110—(y+2)

Solve the following system of linear equations in three variables.

x+20=-32—y +10=2z+5=110<(y+2)

1 7
A= [? Z QJ, B=|1 2 | aafe (AB)T=BTAT areénuansé sfluniéseayib.
® 5 -1 >
S 29 L7
If A= (1 ) 8)' B=|1 2 | verify that (AB)T=BTAT
S -1
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34.

35.

36.

37.

38.

10
P BLLi @enGQeueflulier ‘a’ B i opayd b’ B e.wpeperer @uan() ewmsen
o granan. grawsaten 2 &8Gelpng aHCruerer sramaailan SigéE euenwIL(HLD
Ganacr spBa@ih Lsalddn 2 Lmoneng — BLLT cems Sdsseld
Two poles of height ‘a’ metres and ‘b’ metres are ‘P’ metres apart. Prove that the
height of the point of intersection of the lines joining the top of each pole to the

foot of the opposite pole is given by % metres.

Garerr @) mawbeuly. Gg,g)g)g,mg, arpd Hemlssab. -

State and prove Angle BlSCCtOt’ theorem.

(8, 6) (5, 11) (=5, 12) wHmd (-4, 3) YPHw yeraflgemer (pMATEETTS Gl & metorL
BID&TSHen UTlenUs &mes.

Find the area of the quadrilateral formed by points (8, 6) (5, 11) (=5, 12) and
(—4, 3).

7x—3y=—12, 2y=x+3 éu Cri&Canpser shdlsgn Lerell aufl Qedeugw
X-DFEEE EMUNEIZIDTET GDI‘I’&G&WI_Iq.Eﬂ FOTUN_ DL & SN,

Find the equation of a straight line parallel to X-axis and passing through the
point of intersection of the lines 7x-3y=-12 and 2y=x+3.

1

(M SOMEET elenssgdlen e.sfluldlmbsy Al usshsetler o drer ALE G
sliudsar 30° LHYD 60° AW&ss Carewsde unissULBSaTmer. soRisT
edenéssHan wmd h 5. Q@ sLudsdr wHnL swbsamy elasssen oigliuEs
dwma @Gy CpiaGsriyd mwdlanea aaile, @ rerQ LU & EHE S

Qe il L Ggrenaey % . sran Blem9saeyLo.
From the top of a lighthouse, the angle of depression of two ships on the opposite

sides of it are observed to be 30° and 60°. If the height of the lighthouse is ‘h’
metres and the line joining the ships passes through the foot of the lighthouse,

show that the distance between the ships is 4h m.

J3
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39. @ e @eanuilen b wHpID e wikselar BPsb 5 : 7 ByED. ST eumETUTLIL
5500 &.05.8 crafley, o menemufen b HMHID L WMD STaTs.

The radius and height of a cylinder are in the ratio 5 ;: 7 and its curved surface
area is 5500 sq.cm. Find its radius and height.

40. mer gengl GOHWLU dprelln@E 150 FUTEET SRIGEUSHE G(1H SalTTD DIENDSEADT.
saLmddlen iiuGH emear augelgid CupusEd siby eugelgd e erarg.
eMaT sRGusHE 4 8.8 SgiuEd uTuyb 40 6.8 smpL CemauLuBApng.
salLnisdle) e menamuilen 2 wigd 8 18 erafle) snd Qe o Wimb SMeNs.

Arul has to make arrangements for the accommodation of 150 persons for his
family function. For this purpose, he plans to build a tent which is in the shape of
cylinder surmounted by a cone. Each person requires 4 sq.m. of the space on
ground and 40 cu. meter of air to breathe. Find the height of the conical part of

the tent if the height of cylindrical part is 8 m.

41. @Qren(® Srren LseLsET (Wapwrs GG CprsHed e HlLLLBemen.
(i) Qren® vseLsaigid gCrups wiy deLss
(ii) @ps wHuyseflear Qumsshumer UsT aamats S s
(iii) s wdlyseiler B LET aamaTIs S &s
(iv) & wduyseaien b 1 -Ys @@M
A Hapsflseien flapssosmed sTars.
Two unbiased dice are rolled once. Find the probability of getting :
(i) a doublet (equal numbers on both dice)

(ii) the product as a prime number

(iii) the sum as a prime number

(iv] the sum as 1

42. A:{Ew{-x.tg,},g_—_{mmﬂcxsamg';gutbC={3,5,?]GrsuﬂdJAx(BuC]=(AxB]u(Aij
crenLeng sflumissayb.
Let A={xeW/x <3}, B={xeN/1<x<5} and C={3, 5, 7} verify that
A X (BuC) = (A x B)u(A % C).

[ HwLys / Turn over
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u@gl - IV / PART - IV
@IuY : emensg llamssEnrsEh e wallEsay.
~Note : Answer all the questions.
43. (i) 4 Q&85 repeter Ul L uafhg, NS avwsHdmHg 11 Q&.5
Qgreedigierer om yarelaws Ghsg, SiLiyeareuiesihns UL LSFNEG
@ren® Qsn(Car@sdr cuanrys.
S|Ve0g|
(@) SIgLIUESD BC=8 Q5.8 ZA=60° whmd ZA -é G swdalguneng
BC - D aratp yeatefuldé BD=6 Qs.18 eranpeuryy 5864808 aranile,
w&Gsremnd ABC ecuanys.
(a) Take a point which is 11 cm away from the centre of a circle of radius 4 cm
and draw two tangents to the circle from that point.
OR

(b) Draw a triangle ABC of base BC=8 cm, ZA=60° and the bisector of ZA meets
BC at D such that BD=6 cm.

2x8=16

44. (o) airaflar QaucuGaupy SieTayseMe) 6 QUL LEISMET QURHSTET. S L euenarTuile)
o draraurmy, gaQaunm aulLsdar e LsHnEb, e sHpeTelDEGLD 2 eTer
Camyrus AFTTLYEE @@ weTULD aajueb. sgaa LuaLBSS
oS neng 6 Qa8 s OHEEWL Curg el Lgdan sHDTMGE STERTS.

Sl (x) QF.15 1 2 3 4 5
snmeney (y) @F.5 3.1 6.2 | 9.3 | 12.4 | 155
S|V

(@) y=x2—5x—6 -&1 aweguLLD euenpg, Bigamears Lweatu( s x2-5x-14=0
eTénm FweTUT L Sirése .
(a) Varshika drew 6 circles with different sizes. Draw a graph for the relationship

between the diameter and circumference (approximately related) of each
circle as shown in the table and use it to find the circumference of a circle

when its diameter is 6 cm.

Diameter (x} cm 1 2 3 4 S
Circumference (y) cm | 3.1 6.2 9.3 12.4 | 15.5
OR

(b) Draw the graph of y=x?-5x-6 and hence solve 2 -5x—14=0.



